ol

V3=a, Vi=bet & 3V7T+ V3-4V7-5V3 & s
a, b = ERHH?

ted

© —da-b @ ~da+b ® 4a-5b

@ 4a-b G 4a -+ 3b



2. A=V2+13 B=V6- V3L, v2A - V3B 2] 327

O V6-3v2+5 @ V6+3v2-5
® V6-3v2-5 @ -V6-3V2+5
B -V6+3vV2-5






1 1

- 2 Ao
VE- B B+ B - e

@D V3 @ 2v3 O hH @ 245 B 2415



oS JFoA A AAAE 1, L, =9
77

o7} 2 cm?, 8 cm?, 186m2 O] o,
CD =?

D 2V2cm @ 3v2cm

® 4v2cm @ 5v2cm

® 6v2cm

A



the B AF2ES YR ROl thE F Fold BE ol§s
e 1T 5 9 R
T 0 1 2 3
3.0 | 1.732 1,735 1,738 1,741
3.1 1,761 1,764 1,766 1,769
3.2 | 1.789 1,792 1,794 1,797
3.3 1.817 1,819 1,822 1.825
3.4 | 1.844 1.847 1.849 1.852
® V360 @ V345
® V314 @ V3I1- V301

® +3.33+ V3.15






~3V3- VB4 5V3 45 V5 = a3+ hVE7H A

e ], 2a+ b 9
#42? (P a, b= )

T



9. IS+ VIS-2V27 + 350 & 7heks] hel?

@ 14V2+4V3 @ 14V2-443 ® 18V2-2v3
@ 18V2+2+/3 B 242+ 443



10, oh& 514 Slof gt £ 4 4, BAA 2 o g2 (e A

st AZE )

¥y
o -3 0AB 5
®2://_§2—1 ®4f2—5 3\/§2+1
@2 2+1 ©2 241

oflh



11.

SH2V2_32V2 g sy

3-2v2 3+2V2

D 24v2 @ 122 B 6v2

@

S

o3



12.

1 1 1

R Fa A Eav

D 1+ V2 @ V2-1
@ 0 G 1

Ara}?

©)

N =



13.

A=5v2-2,B=3V2+1,C=4vV3-2¢ 0, & = tj& A7}
Q0 709

o 1= A .

O A>B>C @ A>C>B ® B>A>C

@ B>C>A G C>A>B



14.

T ABTO] & 7E W, V5 = 2236 Y& 085

@ /50000
® 0.05

stel 7

® +0.0005

s

<]
=

s
T



5a—-2b

mf,

S}H
=

b 2ol

%o __o

ol
< &
w T

@ V5-2 ® V5+1

® V5+4

@ v5-1
@ V5+2



